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A man standing in the sun light finds that his
shadow is equal to his height. The angle of
elevation of the sun at that time is::

(a) 60° . QO (b) 45° Q
(c) 30° O (d) 90° O
In an adjoining figure O is centre of circle.
The value of y will be :

(a) 80° O

®) 130° o 9

© 105° o 0
d) 135° 0 \./

The base radii of two right circular cones of same
height are in the ratio of 2 : 5. The ratio of their
volumes is :

(@ 4:10
(c) 4:25

O (b) 6:25 O
O (d)9:25 O
If o, B, v, 0 are angles of cyclic quadrilateral the
value of cos o + cos B + cos ¥ + €OS disequalto:
(@ 1 O M2 O
© -1 O o o

If tan6+tan(9+%)+tan(6+%?-)=3 then:
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o2 o)

cos* 6 -sin' B is equal to:
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Let S, denotes the sum of first n terms of an A.P.

if §,, = 3§, then the ratio of §S—31'- is equal to:
n

(@) 4 O (b6 O
(© 8 O () 10 o
A die is thrown. Let A be the event that the
number obtained is greater than 3. Let B be

the event that the number obtained is less
than 5. Then P(AUB) is:

@ WOR o
© 0 O @1 o)

A pair of fair dice is thrown independently three
times. The probability of getting 4 score of
exactly 9 twice is :

@) a5 0w o
(©) 7% O(d)% Q

If sec x = cosec x, then the value of sin x - cos x
is:

@0 O ®1 o
() -1 O @ 2 Q
The distance of the point P(4, 3) from the gtigin
is:

(@) 3 units
{¢) 5 units

O (b) 4 units O
Q (d) 6 units Q

If sin (x + 60) = cos (60 - y) thein the value of
sin(y—x)is:

@ B o) % o
(© '—2—1 @ @ ‘;‘ @)

The graphs of the equations 5x + 3y = 6 and

3x -5y =9are:
(a) Parallel Q (b) Perpendicular QO

() Coincident QO (d) None of these Q

1+ tan?44°
The numerical value of e e . Y

1+ cot” 46°
(@ 2 O () -1 Q
{© 1 O ) -2 Q
The value of tan 1°. tan 2°.tan 3°... tan 89°is :
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© 0 O 2 Q
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The simplest value of (1 + x) (1 + ) 1+ 2Y
@+ is:

1- x16

(@) = O () 1+x+x*+x*+22 0
© 1+x%)? Q d) 1+x” o
If C* + C = -1, then the value of € - 18

@ 1 QO (b0 ! o)
© -1 Q@2 0]
If sinB.cos® =%, then the value of sin 0 +
cos Ois:

(@ V6 O (b V2 O
© V3 O 5 o

The mean of the squares of the first n natural
numbers is :

4
@ n+1 o ® 2 n” o)
(n+1)(2n+1) (n+1)(n+2)
g 0@ Y e
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oox x
The value of (F) x (;Tj x (;7)

is equalto:
(@ 1 O (o o
© ¥ O (diabc 0
The value of the expression J6+,/6+J6+....w
(@ 2 Jo (b) 3 o
© 30 O d)> O
If a, P be the roots of the equation L+ax+b=0,
2 2
then the value of 2+ 5 is:
B a
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g o®m 7= O
3 3
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© 33 o @ 713 o

The quadratic equation whose roots are a and
Lis given by :

a

(@ x* -2ax+(a® +1)=0
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O 0 O O

d x*-x+2a=0
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. (a) rightangled

If two medians of a triangle are equal, the
triangle is :
O (b) isosceles O]

(c) equilateral Q (d) None of these o
In the adjoining figure, p- A Q
if ZABC =35°, then the
value of ZACB is

equal to: A

(@) 55° Qo B &
b 50° o

(© 45° O

(d) 54° o °

In the adjoining figure | s

PQ is the diameter —
ZSQPisequalto:

(a) 40° .O P Q
o 30° Q

(c) 60° O

(d) 50° o

A cord in the form of a square encloses the area
S cm? If the same cord is bent into the form of a
circle, then the area of the circleis:

@) Ei—z O () 4nS2 0
© 2 ow@® o

If a sphere and a cube have the same surface
area, then the ratio of the diameter of sphere to
edge of the cube is¢

@ J6:Jn Qb) JVn:J6 o
(© 2:1 Q d1:2 o

The nimber of balls of radius 2 cm that can be
made oist of a cube of side 44 cm are :

(a) 2525 O (b) 2541 Q
() 2500 QO (d) 2560 0
EF is tangent to the

circle then ZB and £C

are:

(a) 40°,80° Q

(b) 80°,50° o

© 60°, 70° Q

(d) 60°, 80° Q E
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PT is a tangent to the circle. If AP = 4 cm,
AB =12 cm then PT is :

T

(@ 4cm O

®b) 6cm O

© 8cm O

d 12ecm O & WA—4 T

In a distribution, mean is 32 and the median is
34. The mode will be :

(a) 38 O (b 28 O
() 36 Q ) 34 Q
The mean of ten natural numbers X1y Xy eey Xqg I8
X . The mean of (x; — %), (x; —X) ... (x49 - %),
will be:
@ 0

© 1

The length of the largest rod placed in a room of
dimensions /, b, h is calculated by :

@ 1+b+h O (b) Ibh

(© Ji+b+h O (d) 12 +b? +K?

Index numbers are a measure of ;
(@) Sociological behaviour

(b) Infant mortality rate

(c) Economic behaviour

(d) Specific death rate

O ) xy+x,+..+x,y O
O d) nx o

O

© 00 Q

In 2 hours, minute hand of clock will rotate

through angle:

(a) 60° O (b)360° O
() 720° O () 180° O
If 5 7Y = 25 and 5° *®= 5)hen :

(@ x=1,y=-1 QB x=-1,y=2 o

(© x=-1,y=<-1"), @ (d) None of these Qo

The product of the roots of equation px” + qx+r
=0 will bes

p =P
@ g o ® o o
F ok
© 3 o @ o
The sum of first 20 natural numbers is
(@) 210 O {b) 420 O
(o 610 Q ) 710 O
cos” 5° + sin” 85° is equal to:
(@ sin® 95° QO (b) sin® 45° o}
(© 2 sin” 85° Q (d) sin® 80° o)
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(©) 8cm O |
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Tt sle o Wt Wem 32 S wiftaeT 348
(C) 36 ) (d) 34 o

10 YTH{aeR @S x4 x )., X, T THT ATER
X8 (x - %), (x5, 48), % (xpy = %) FT WHIRR

HTE I ;

(@ o0 O ®x+x,+..+x, O
© 1 QO d) nx Q
Wk WL LT 1, b AT 3 Tt | aret
HEY Wl 98 & onard g

(@) Mb +h O (b) bk Q
(y Ji+b+h O JP+b?+12 0
o o7 @ g §

(a) WIS =EER o]
b) g g w o
(c) omffe =aerer @)
(d) fafere g9 = o]
29l ® faste arelt g wror guet 2

(@) 60° Q (b) 360° 0
©) 720° O (d) 180° o)
afg557Y = 25, 5% * W - 5t ,

(@ x=1y=-1 O b)yx=-1,y=2 0

© x=-lLy=-1 O@wFHd=E" O

THEU pa’ + gx + r= 0 Yol &1 T[UHTES
B

p 4
@ o 0 o
) r =¥

© 7 SAC o
qgw 20 WTehfder e &l ahwa B

(a) 210 O (b) 420 o)
(©) 610 Q (@ 710 o)
cos? 5° + sin? 85° Tt 1A A v & TR B :
(a) sin® 95° Q (b) sin® 45° e
(©) 2 sin®85° Q (d) sin® 80° Q
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[50]. Locus of point which moves such that it's | [50]. x-3T&7 qYUT y-H& o |quE q:ﬁ w fom f8g =1

{51}

[52].

[53].

{54].

{56].

{571

distance from the y-axis equal to the distance faguy FARIE
from x-axis is :
(@ x=-y O b x=y o} @ x=- O b)x=y Q
© x=2y Ody=2x o © x=2y O dy=2x o
Light can pass through [51]. warer fered R/ TER Wekdl ?:
(@) Vacuum QO (b) Glass o (a) Traia O (b o
© Al - O (d) Allof these o (© 9 O (d) ST W+l o
Snell’s law is: * [52]. ©rer @ Fraw
@ sl owmu-Ey  °|  @wtmr  offNeSmr  ©
© 1=2 0@ kg o @ w=2r oY H=oey o
Our eyes are more sensitive for which colour? | [53]. Tart atEfmy T uia sfrn AT Tt 7
(a) For white colour O (@) TF% W DU | 0
(b) For green colour o) bR W i Q
(c) Forblack colour " Q (@) F& T F 9 )
(d) For blue colour Q. @ i T ® wfa Q
In automobiles convex mirrors are used to see <[54} e M F NS VA et @ Hra qER & fog
the traffic coming from behind because: e gdur v few Wi € it
(a) They form magnified images o  (a) TE safda gfafes S g o)
(b) They form erect and diminished infages O (b) T® d1 & Brer wiafes @ ¥ o
(c) They form realimages o) () e areafae yfafera S 4 o
(d) They form inverted images Q (@) JE 3T yfafe 7 R Q
When a red flower is seen thrduglya green glass it | [55]. W& Tret & T & WO H &HTA @AW
appears : g feard 3m:
(@) Red Q (b)) Green O (@) @A O () T o)
(c) Yellow O (d) Black O (© dem O (d) FTEm o
A converging lens is that which: [56]. oTRTET oW oE grar & W :
(a) Collectrdys o) (a) ool Tehadt o 2 o
(b) Spreadsrays O ) e 2 Q
(c) Forms real image o) (¢) arefe wlafews T 2 o
(d) Forms virtual image 0O (d) et o= < 2 ; ; Q
A stick }Sut in a bucket of water appears bent: [57]. T ¥ T Wl & T o I g8 W T e
(@) Due to reflection Q (a) WUEdA D HR O
(b) Due to attraction o) (b) REUT FH HR 0]
(¢) Due torefraction o © AT H RO o)
(d) Due torepulsion Q (d) whrdw & w0 o
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[58]. A well cut diamond appears bright due to: [58]. ¥R fFw =g ® QU ﬁ'@g T .

(a) Itemits lighf 0 (a) T WhTYT Scdfsa war 7 o)

®) Itis radioactive o) b) e feaufes 2 o)

(¢) Totalinternal reflection Q (¢) qui eaftw wEde @ 0]

(d) It has high density o} (d) T9H =9 WA BT ® o}
[59]. When an object is placed between two parallel | [59], & waiax dol & e & T @ e wfafas

mirrors the number of images formed are : ==

(@) Zero O (b) More than 100 @) @) I O (b) 100 ¥ =T 'e)

() One O (d) Infinite o © T O (d) 37 o
[60]. Unitof magnification is: [60]. ST W THTE : .

(@) metre O (b) diopter o] (a) i Q4(b) A= o

© m™ Q (d) no units o! © ! oOdFEwE T O
[61]. Power of eye lens of an adult human beingis: | [61]. T& Ta%h ATl S & S\ H e gt

@@ 3D Q () 4D ¢) (@ 3D O (b) 4D o

(C) 5D O (d) ‘6D @) (C) 5D Q (d) 6D O
[62]. Magnification of simple microscopeisgivenby M= | [62]. W& HEFeNil &t e gwar w WA M=

@ 1+5 o ) 245 o| b 0 ®) 247 o

© 34D o @1+2 o © 7+D o @1+% o
[63]. The lenssystem facing towards the objectis: [63]. a&] & WWe AW fawew & wgd &

(a) Eye piece O (b) Lens O (a) A O () &5 O

(c) Objective O (d) None of these Q () T Kt Qe HI=IT T O
[64]. The impression or sensation remains on the | [64]. EER: D gﬁzm ¥ & yfafara & o o HaeT

retina for about how many secorids even after T BT O UT off, T femaelt 2F aeh W@ar £?

removal of the object ? ' ’

(a) 1 second O (b) % second Q (a) 1¥%TE " 2 W 16 wFTE &

~ (©) 16 second Q. (d)iI minute Q (© 16 ¥wTs O (d) 1w ' o

[65]. The instrument formeasuring electric currentis | [65]. &I A & ﬁvﬂ{ Tore SU=RTUT T T A 2

g)mme;ter O (b) Voltmeter o (@) 9 &) MET @

. (© Galvanometer O (d) Voltameter o} () e Q (d) deerte &

[66]. Three resistances of 2, 3 and 6 ohms are | [6]. = whriy 3, 3am53ﬁ'qqut‘t t,ﬁ-g M

connécted in'parallel, the total resistance is : ¥ qfomdt wfrta ghm:

(a) 3% Ob12a = (@ 36 Q O @®12Q 0

© 1Q O desn @) © 1Q O e O
[67]. A kilowatthourisaunitof: [67). fweitare wer foaat s 2 :

(a) Energy O (b) Power o (a) St O (b wfs Q

(c) Electriccharge O (d) Electriccurrent O (¢ fag@ smaw o (d) fag@ am o
[68]. Two electriclamps of 40 watt each are connected | [66]. 2 Tawrelt srear faell ¥ Y 40 A1 T & WA

in parallel. The power consumed by the wI W WIS W §, 39 T &t vife g

combination will be : ,

(a) 20 watt O (b) 60 watt o (o) 209 < () e0Hm 4

(c) 80 watt Q (d) 100 watt o (©) 807®= QO (d) 100 A Q
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The resistance of an ideal voltmeter will be :
(@) Zero . QO (b) Infinite o
(¢) More than zero O (d) Less than infinity o

The filament of electric heater is made of :

(@) Nichrome mixed metal o
() Iron Q
(¢) Aluminium Q
(d) Copper Q
The unit of electric charge is :

(@) Coulomb O (b) Ampete )
() Volt QO (d) Joule Q

The positively charged ions in an electrolytic
solution are called :

(a) Cathode
(c¢) Cation

O (b) Anode o
O (d) Anion Q

Mechanical energy is converted into electric
energy by:

(a) Eleetric meter
() Voltmeter

Q (b) Ammeter o
O (d) Generator Q

Domestic electric fittings are connected in:
(a) Series ;
(b) Parallel

(c) Both in series and parallel

(d) None of these

@00 O

Magnitude of magnetic field proddced around
a conductor depends upon:

(a) Voltage
(b) Current

(c) Thickness of conductor

0O 0 O O

(d) Length of coriducter
What is unitiof magnitude of magnetic field ?

QO (b) Tesla ®)
Q (d) Volt o

(a) Faraday
(¢) Newton

Except iron, another metal which is attracted by
magnet, is: '

(a) Gold
(¢) Nickel

QO (b) Silver 0]
O (d) Mercury Q

In A.C. generator and D C. generator, main
differenceisin:

(@) Coils
(©) Rings:

O (b) Speeds o)
O (d) Magnets o

[69].

[701.

[71].

[72].

{73].

[74)

[75].

[76].

[771.

[78].

atreyl ateewieT @ ufattadar g

@ T3 Q (b) ¥4 o
© @aAER O (d) ¥Fa § FW Q
(@) T fafsa urg 61 @)
(b) @R = o}
() TegHfEm H 0
(d) dfs =t ' o)
faeg amdwr w1 WA €

(2) e O (b =T o
(€ d=e O @) & o

e e rvmed faenn & gArers e ge
Wm%:

(a) HefrE Q (b) T Q
() e Q (d) A o)
Tif St @t 9 ool & agerr ¥

(a) forega A O () ¥R

() dlFEHX O (d) IR

e e Suwon @ fee ww F wa ¥
(@) Svftwe |

(b) =R FH A

(© Sufteen qe SWIRR FH A °
@ T4/ = 7E

qmm%maﬁrm@ww
aftamor frm wr Frsdt wvar

(a) dreeS

(b) foga @@

() =TerF ® TR
(d) =TeTE H TR
W‘ﬂ@?%ﬂﬁ'ﬂﬁﬁgﬁl’é%’
() ¥ Q (b) T Q
() A O (d) dr= . o
e & arfafam, arg ot <pEw gRT Arehild W
T R

(@) g o b o
© fra O (d) I Q
g.c.man.c.mﬁgawwm ‘
(a) Husfaal &
© T §

o 0

4 o000

C 00 0.

O (b) niaat ® Q
O (d) gaH o o




[79].

[80].

81l

[82].

[83].

[84].

(85).

[86].

(871

[88].

{891

POLYTECHNIC ENTRANCE EXAMINATION (2013-2014) (4 feme waw wign (2013-2014))

(a) Heating

Which magnet is used to lift heavy goods ?

(a) U-shape magnet
(b) Bar magnet
(c) Electromagnet .

©C 0 0 0

(d) Simple magnet

Sun emits light energy by the process:

(a) Nuclear fission O (b) Chemical fusion QO
(¢) Chainreaction O (d) Nuclear fusion O
Which is not a fossil fuel ?

(a) Diesel O (b) Wood o
(¢) Coal Q (d) Petroleum o

Most common naturaly occurring solid fuel used
invillagesis:

(a) Coal Q (b) Wood o
() Paraffin O (d) Kerosene O
Which is main constituent of L.P.G.?

(a) Butane O (b) Pentane Q
(¢) Propane O (d) Methane o

Solar energy like other forms of energy causes
no:

O (b) Burning o

(c) Disturbance O (d) Pollution o

The substance without which combustiohcannot
take placeis: ‘

O (b)Larbon O
O Ad) Kerosene o

Plutonium (Pu-239) ¢an be made artificially
from :

(a) Oxygen
(¢ Hydrogen

(a) U-235 O (b) U-238 Q|
(c) Ba-139¢ O (d) Kr-94 Q
The nucleak fuel in the sunis:

(a)” Helitum O (b) Nitrogen O
(c)yHydrogen QO (d) Pu-239 Q
Ultraviolet rays cause :

(a) AIDS O (b) Skin cancer 0]
(¢ T.B. O (d) Small pox O

The animals who feed directly on plants are
termed as :

O (b) Herbivores o
Q (d) Autotrophs o

(a) Carnivores

{¢) Omnivores
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[901.

[91].

[92].

[93].

{(94].

[95].

[961.

[971.

[98].

-(b) OH ions afe formed

(a) Soda ash

Which of the following are biodegradable
pollutions ?

(a) Plastic Q
(b) Agricultural residue O
(¢) Pesticide 0]
(d) Insecticide ©)

The reaction in which one substance breaks into
two or more simple substances is known as :

(a) Combination Q (b) Displacement O

(¢) Decomposition O (d) Oxidation Q
Gaining of hydrogen by any substance is:
QO (b) Endothermic
{¢) Oxidation O (d) Hydrogenation QO
Which one is balanced equation ?
(a) C,Hg+O,—CO,+H,0

(b) CH,+20;— CO,+2H,0

() CaCO;—2Ca0+CQO,

(d) SO, +2H,0 - H,50,

Which of the following did not disturb the
equilibrium point?

o

(a) Reduction

0000

(a) Catalyst O (b) Temperature o

(c) Pressure O (d) Concentration Q

The unit of rate of reaction is :
@ MolL's™

(b) Mol/second

() MolL 7!

(d) Lmol™ 7!

00 0O

When bases are dissolved in water:

(a) H"ions are forsied

(¢) O iongareformed

{d) None'ofthese

0 00O

pH of acid rain wateris:
@ 0 O b7
© >7 Q@ <7

(ORNO)

The compound used as an antacid is :

(b) Baking soda
(c) Bleaching powder

O 00O

(d) Sodium carbonate dehydrate

[90].

[91].

[92].

[93].

[94].

[951.

[96].

[971.

[98].

o ¥ @ F-ar ST Fefter ygues R 2

(a) =nfes o)
(b) Ffw Iewfea Iufyre Q
(c) WiEHTNTH ' o
(d) FreARTH Q
W= & ugd TEE @ A ¥ tfuw v vard
IO FE T, @ 36 uhRAr w wEd T

(a) G O (b) foeuram o
(c) - ATSTA O (d) 3EFETFH o
FTEEIoT w1 fRet werd ¥ g, wEen ¢
(a) STT=TA Q _ (b)yFsHreTrs oy o
(c) SEFEHT O () BTEZISIH 0
& @ defera aamor g ?

(@) C,Hy+ @3> €O, +H,0
() CH,4 20,%CO,+2H,0
() C4CO;—>2Ca0+CO,
(&) SO, +2H,0 —» H,50,
?ﬁﬁwﬂﬁﬁ‘%aﬁﬂwwmwmﬂﬁm
(a) STIH Q (b) dTY

(c) 3= Q (d) W
atfsferar &Y oC @ " R

(a) Areeer! dwve!

(b) WA/ RS

(¢) T dEwre!

(d) herae! dwve!

YR ® U H Len W

(@) H' smaT I &

() OH & o &

© O 3 T ¥

@) ¥ ¥ =g TE

a9l @& Tt v pH'qFf'%:

(@ 0 O b7

© >7 O <7

wh oret @ AT IwEnT B aren e d
(a) HeT &R '

(b) dfwn e

() fotsre 9of

d) wifezm wmEite desge

000

o 0

00 ©0O0O0O0 0000

0000




| 12 I

(991

(100].

[101].

[102].

{103].

[104].

(105].

[106].

[107].

[108].

[109].

POLYTECHNIC ENTRANCE EXAMINATION (2013-2014) (qiftvefer wawr vty (2013-2014)

The chemical formula of Plaster of Paris is :

() CaSO,.2H,0 O (b) CaSO, Q

© CaSO,.H,0 O (@) CaSO,.3H,0 O

Which of the following metals can be cut with the
help of a knife:

(a) Sodium Q. (b) Mercury O
(0 Magnesium O (d) Aluminium o

Which of the following metals is not a conductor
of electricity ?

(a) Lead Q (b) Mercury Q
(c) Copper QO (d) Aluminium o
Potashalum is used as:
(@) Indying and printing
(b) Making models

(c) Salt for eating

(d) None of these

00O

The non-metal having a lustrous appearance is
called :

(@) Graphite O (b) Sulphur o
(c) Bromine O (d) Iodine Q
Electrolytic reduction is carried on in case of :
(@) Zinc Q () Tin O
(¢ Aluminium O (d) Sodiumy o
The lightest metal is :

(@ Au O (b) Fe o
(© Li O (d) Na o)
Which of the followifig metals is most reactive ?
(@) Magnesium “%Q (6) Aluminium o)
(¢ Zinc O (d) Copper o

Heatingof a substance (ore) in the presence of
air is calleds:

(a) Calcination Q (b) Combination 8]

(¢) Roasting O (d) Combusion Q

Gold is purified by :

(@) Electrolytic refining Q

(b) Liquation ‘ O

(¢) Distillation 0

(d) None of these @]

Hardest non-metal is :

(@ C O P o
(© N O WO Q
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[

[110].

[l

[112].

{113].

(114].

[115].

[116]).

[117].

{118].

[119].

[120].

Atomic number ofsiliconis:

(@) 12 O (b 14 0
(c) 15 O @ 17 Q
ite phosphorus is generally keptin:

@ Air Q (b) Water O
() Oil O (d) Mercury Q
Purest form of iron is :

(a) Castiron O (b) Pigiron @)
(c) Wroughtiron O (d) Steel o

Which of the following metals is found in nature -

in the free state ?
(@) Sodium
(¢) Potassium

Amalgam is an alloy of one or more metals with:

(@) Mercury Q
(b) Calcium

(¢) Sodium

0 0O

(d) Potassium

N, molecule has a/an :
(a) Ionicbond
(b) Single covalent bond

(¢} Double covalent bond

0 O 00

d) Triple covalent bond

Which covalent compound is s6luble)in water ?
(a) Methane O (b)4&thane O
{©) Chlorine O (@) Sugar o

There are lacs of compotinds in which carbon isa
constituent element.Reason for this is:

(@) Carbonisation, O (b) Polymerisation O
7 O (d) Hydrogenation O
Benzene may be said to be polymer of :

(a) Ethane O (b) Methane o
(c) Ethylene O (d) Ethyne O

() Catenation

Out of the following elements which has larger
atomic radius ?

O (b) Gold - Q|
O (d) Aluminium - O
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(a) Na O (b) Mg 0]
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Which of the following is not an inert gas :

(a) He O () Ca o
O (d) Ne O
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The excretory organ in mammals is :
(@) Lungs QO (b) Heart

(¢) Skin O (d) Kidney
Soldiers of the body are :

(a) Red blood cells

(b) Platelets

(c) White blood cells

(d) None of these

Memory is related to:

(@) Cerebellum Q (b) Cerebrum

(c) Pons O (d) Offactory lobes

O 00O ©

00

Which of the following is not ductless gland ?

@)

(a) Adrenal Q (b) Salivary

Q (d) Thyroid

@

(¢) Pancreas

The largest cell in the body is :

(a) Nerve cells

(b) White blood cells

(¢) Red blood cells

(d) Epithelial cells

In plants which part develops into seed :
(@) Ovary QO (b) Flewer : o
(¢) Ovules O (d)Pollemrgrain O

Which one of these following is not a sexually
Transmitted Disease2

(@) Syphillis O (b) Leprosy )
(c) Trichomoniasis©O (d) AIDS Qo

The portion of\a plant that is grafted onto the
other partis called :

(&) Upperportion O (b) Scion @)

() nStock O (d) None of these o
Yeast reproduces by :

(O O O ®)

(a) Fission

QO (b) Spore formation O
(c) Regeneration Qo

Q (d) Budding

Name the test to determine AIDS :
(a) Ultrasound O (b) ELISA Q
(c) X-ray O (d) Sonography o
Grape and rose are propagated commercially by :
(a) Grafting

(b) Layering

() Micropropagation
(d) Cutting
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-[Tl;;]. Monomer of DNA is |
(@) Adenine O (b) Nucleotide o
{© RNA Q (d) Cytosine O
(133]. Number of pairs of sex chromosomes in human
beings: ‘ .
@) 1 Q (b) 22 o}
(© 23 O ) 46 O

[134]. Theory of natural selection was given by :

(a) Carolus Linneus

(b) Jean Baptist Lamark
(¢) ErnstHaccket

(d) Charles Robert Darwin

[135]. On which plant mendal carried out his

investigations :
(a) Gram Q (b) Pigeon pea @)
(¢) Gondon pea O (d; Peanuts Q

POLYTECHNIC ENTRANCE EXAMINATION (2013-2014) (Qiferé famas waer qitem (2013-2014))

coo0o

J
O () qferEEE O

[132]. DNA T T&He& @ :

(a) tfefa

(0 RNA O (d) wwetfaa o)
[133). wgsal A Tt purgAt & WSl @ W

@@ 1 Q (b 22 0

© 23 O (d) 46 o)

(134). YT Ry fram e © @ feat oot

(@) ey fafrmE
(b) M dfere S
€ = THha
(d) =" T2 iy
[135]). WS ¥ 3rq=r wA BRR W8 uT e

0 0 00

O

(@) =
(0 "X

O (b) T

O (d) Ymeeh o)

Choose the correct combination of Articles:

[136]. She bought ink pot, bagand
umbrella from the market.
(a) a, an, the O () an, a, the Q
(© an,a, an O (d) the, a, an o
[137). book tells his many advéntures, how he
lived, how he built House arid

boat, and how he was rescfied at last.

(a) The,a, a O b) The,the, a @)
(©) a, an, the Q (d) The, an, a o
Choose the suitable modalauxiliary.
[138]. Your scooter have hit the pavement.
(a) Should O (b) May @)
(o Will O (d) Might 0
[139]. We abide by the law. (duty, obligation)
(a) should O (b) would O
{©) can QO (d) oughtto Q
Choose the suitable tense of the verb.
[140]). Vineet fell off the ladder when he {(mend)
the roof.
(a) mended o
(b) has mended o
(¢ will be mending Q
(d) was mending O

[141) By evening the guests
(a) will show
(b) showed
() would have showed
(d) showing

[142]. Make hay while the sun (shine).
(a) shone Q (b) shinning
() wouldshine O (dJ shines

Choose the correct Passive for the sentences given below :

(show) up.

0000

© 0

[143]. Your work satisfies me.

(@) Iam satisfied by your work

(b) Iwas satisfied by your work

(c) Ihad been satisfied by your work

(d) Tam being satisfied by your work
[144]. A truck ran over a pedestrian.

(a) A pedestrian was ran over by a truck

(b) A pedestrian was run over by a truck -

() A pedestrian runs over by a truck

(d) A pedestrian was run by a truck
[145]. He gave me a gift.

(a) A giftis given to me by him

(b) I'wasgivena gift by him

(o) A gifthad been given to me by him

(d) Tam given a gift by him.

000 0000

000
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Choose appropriate prepositions.
[146]. India is grateful

its patriots.

Select the best alternative so as to best express the
meaning of the word given below. ’

(@) to Q | [149]. Infanticide
(b) of G (@) Murder of a baby or a small child. Q
(c) with e (b) A chemical used in increasing agricultural
) for o) production. ,
[147]. He was convicted murder. () Murder of one animal by another. @)
(a) for O (b) of ®) (d) Murder of a girl child. : o
(©) with O () in o | [150]. Kleptomaniac
[148]. He is hard hearing. (a) A mad person with a desire to read. o
(a) with 0] (b) A person with art@bnosmal desire to steal. O
®) to '®) (c) A person with anrabriormal desire to run after
© on o) money. o
d) of o (d) A persén pbsessed with women. O
1. (a) 2. (a) 3. (@ 4. (d) 5. () 64(p) d 7. (@) 8. (b) 9. (b) 10. (c)
1. (d) 12.(b) 13. (@ 14. (@) 15. (b) 46. (B 17. (d) 18. (d) 19. (a) 20. (c)
21. (d) 22.(b) 23. (0 24. (3) - 25.(a) L260qb) 27. (b)  28. (c) 29. (a) < 30. (b)
31. (b) 32.(c)  33.(b) 34. (a) 35 (6 36.(d) 37.(a) 38. (b) 39 (c) = 40. (o)
41. (a) 42. (a)  43. (d) 44. (c) 450 46.(a) 47.(c) 48.(a)  49. (0 50. (b)
51.(d) 52.(b) 53.(b) - 54.(b) /5&n(d) 56.(a) 57.(c) 58. (c) 59. (d) 60. (d)
61. (b) 62.(d)  63. (c) 64. (b)Y 'n65.)(a) 66.(c) 67.(a) 68 (c)  69. (b) 70. (a)
71. (a) 72. (¢) 73. (d) 74./b) 75. (b) 76. (b) 77. (c) 78. (c) 79. (c) 80. (d)
81. (b) 82. (b) 83. (a) . 84. (d) 85. (a) 86. (b) 87. (0 88. (b) 89. (b) 90. (b)
91. (o) 92. (a) 93. (b) 94, (a) 95. (a) 96. (b) 97.(d) 98. (b) 99. (d) 100. (a)
101. (b) 102. (@) 103. (d) 104. (c) 105. (c) 106. (d) 107. (c) 108. (a) 109. (a) 110. (b)
11, (b) M2. () 1134() = 114. (8 115.(d) 116.(d) 117.(c) 118.(d) 119. (a) 120. (b)
121. (@) 122. (c) - 123. (B)/ 124. (c) 125. (a) 126.(a) 127.(b) 128. (b) 129. (d) 130. (b)
131. (d) 132. (b)< 183. (@) 134.(d) 135.(c) 136.(c) 137.(a) 138.(d) 139. (a) 140. (d)
141. (b) 142. (d)\ WM43. (a) 144. (b)  145. (b) 146. (a) 147. (b) 148.(d) 149. (a) 150. (b)
\ >

[1]. x4+i4+2:322+2
X

2
(x2 +l2) = (18)?

X

et _2-18-2
X

(-l -

x—l=4
X

HINTS/SOLUTIONS TO SOME QUESTIONS (8 Wol & Hehdl /€A

st +Le2-32042
X

2
(xz +xi2) = (18)?

x4 -2=18-2
X

() -
x—%=4 ,

[1].
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[2].

[3].

(4}

[51.

{6l

{71.

[8].

cx9 Fyd +2? =323y

Putx = P in the equationxz—x—6and x*+3x-18,

we get

P2 +3P-18=0
P2 +6P-3P-18=0
P(P+6)-3(P+6)=0
P=3,P=-6

P*-p-6=0,
P2 -3P+2P-6=0
P(P-3)+2(P-3)=0
P=3pP=-
Hence P = 3.

When graph of two lines are || then lines are said '

to be inconsistant.
-3xyz=(x+y+z)(x? +y? +2°
- XY — Yz - z2X)

x% +y® 428

givenx+y+z=0
Then x3 +y3 +23 =3xyz
2 2 2
XY,z _3
yz  xz  xy
If a is the first term and d be the common difference.

Ty
T, ,=a+(m-n-1)d

+ Ty =2a+(2m-2)d

Tpen+T, =2[a+(m-1)d]=2T,

m-n
Ifx+y +z=0then

=a+(m+n-1)d

v L

m+n

> +y® 423 =3xyz is

1 3 1 ga11
3

then (x+y+z)° =27xyz

Ae : - — o8B
3,7) P(x, y) 5.3
_1><5+1x3_3_44
1+1 £
_1x3+1x7_10_5
711 S 2
‘x,y=45>5)
BC_E
tane—ﬁ W =1
0 =45° ) c
/] 4
7/
/
Ve
v
7/
’ h
/7
X4
/7 .
/7
A0
A< g

[2].

[31.

[4].

[51.

[6].

[7].

[8].

T 2~ x—6TMx* + 3x~ 18F x = PTER W
P?-P-6=0, IR P?+3P-18=0

P? -3P+2P-6=0 P?+6P-3P-18=0

P(P-3)+2(P-3)=0 P(P+6)-3(P+6)=0
P=3,P=-2 P=3,P=-

@ P=3. .

wﬁ@w@%wzﬁ?ﬁ%a}mw

ITETH FEAR B

o +y +28 ~3xyz=(x+ys 20 x Wy +z

—/XY ~ Yz — zX)

2

R R x+y+2=0

T x3 498 423430,

2
LAy <
yz XA Xy

9% 9. & §T YU T84 q e 4 8 al

Twon = a+(m+n-1)d
‘ T, ,=a+(m-n-1)d.
e Tyen+Tpp=2a+02m-2)d
Tyon + Ty =2la+(m-1)d]=2T,
TRx+y +z=07

x> +y® +2% =30z
11
T 43 +y3 +z

[

1 11
3 =3x3y3z

W (x+y+2)% =27xyz

. 1 > { ——»
Ae * eB
@7 P(x, y) (5.3
_1><5+1><3_8_4

1+1 2
_1><3+1><7_10_-_5
TS S T

ara: 39 fag « fdwis (4,5) 21

_BC_h_
tanO—AB—h—l

0=45° c
/]
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91

[10).

f11].

[12].

[13].

AAOC 2/£ABC

ZABC = 1—89_

. LABC + ZADC =180°
50° + ZADC = 180°

50°

£LADC =130°
E_ _ 51‘(7‘1 h =i
2
V2 —gnrz )
t-(3) -4
V2 5 25
L ViV, =4:25

In a cyclic quadrilateral
o+y=180°B+86=180°

cos o+ cosP+cosy +cos b

= COS O + €05y +cos P +cosd

2es( %55 e 2ol 5o 12
24

_Y)+2cos90°cos(

a
2 cos 90° cos ( 5

€08 90°=0
-, cos o+ cos P +cosy+cosdE0
tan9+tan(9+g)+tan(9+—2—n—)=3

<)
tan 8 ++/3 tanG,—«/?j
1-/3 tan®Q

1+J§tan6=
3(3 tan 6 — tan*\6)

1-3tan>9
3tan 36=3 e
= tan 30 =1

tan O +

=3

sin =% .sin 2L, sin 21, sin 2%
16 16 16 16

[25111 Sm sin—:?'—75]><—li251n7—1t sin "]

=3 167 16 16 16
=l[(COS—-CO )(COS_———COS—)]
4

1 I:COS—+COS£:|

“ax2 4
_1 _1_)=_1_=£

8{Jv2) 8J2 16

[9l.

[10].

[12].

[13].

f?‘ﬁﬂ'ﬁﬁaﬁ

AAOC 2/ZABC

ZABC = 100

. LABC + ZADC = 180°
50° + LADC =180°

=50°

ZLADC =130°
1
Vi _gﬂr‘zh n
L —é—nrzzh s
ﬁ_(z)z 44
V, \5)4 55
Vl :V2 = 4: 25
w%i agds |

o+ =180%P + 6 =180°
CO5.0 +¢0s B + cos ¥y + cos &

= cosa +cosy +cosP +cosd
= es(5 252l 7)
7 e8| cos| —5— Jcos| 5
B-S)
2

203(

_y)+2cos90°cos(

a
2 cos 90° cos ( 5

" ¢c0s90°=0
. cosa+cosP+cosy+cosd=0

tan9+tan(e+ §)+tan(6+2—;—)=3

tan 0 -3 _
1+J§tan6_

tan 8 + /3
1-Btand
3(3tan 0 - tan> 0)
1-3tan’0
3tan 30 =3
=5 tan 30=1

an 0 +

=3

m— sin — 37 sin§7l sm7—7t
16" 16 ° 16

A BE - BT 7n
= [25111 16 .sin 16] [Zsm 16 Sm16]

2
- (cosﬁ—cosﬁ)(cosﬂ—cosﬂ) ‘
T4 8 2 8 2
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[14]. sin©+cosecd=2 [14]. sin 6 +cosec® =2
Squaring both sides | T IR T FR W
(sin 6 + cosec 0)* = 4 (sin & + cosec 0)* = 4
(sin 6~ cosec 6)* =0 = sin @ = cosec 0 (sin @ ~ cosec 6)* =0 = sin § = cosec 6
= sinB =1 ; = sinf =1
- sin'* 0 + cosec® 0 = sin' 0+ . 110 sin'® 0 + cosec® 0 = sin™® 6 + —
sin™ 0 ‘ sin'’ 9

sin’® @ + cosec'®9=1+1=2 sin 9 +cosec®9=1+1=2

[15]. cos’6-sin®0=(cos”0~sin”0) (cos’ 0 +5in*0) | {151 cos? 6 sin® 0= (cos 0 sin® B) (cos? 0 +sin? 0)

=(2cos?0-1)x1 =(2cos?0-1)x1
=2c0529—l =2cos’ -1
[16]. S,,=3S, [16). S,, =38,
3
2—2"-[2a+(zn ~1)d]=F[2a +(n~-1)d] %’1[211 +(2n= 1) =32—n[2a +(n-1)d]
=> 2a=(@n+1)d = 2a<n%1)d
X .
Sy _ 3 120+ (n-1)d] 5, S + (3n - 1)d]
S Z2a+(n-1)d] S 120+ (n - 1)d]
_3l(n+1)d +(3n-1)d] =g 3[(n+1)d +(3n-1)d]
= = = =6
(n+d+(n-1)d (n+1)d+(n-1)d
[17]. Since A={4,5,6},B=1{1,2,3, 4}, ANB={4} [17). ~A={4,56},B={1,2,3,4}, ANB= {4)
P(AUB)= P(A)+P(B)-P(ANB) P(AUB) = P(A)+P(B)-P(ANB)
WL . 3.4 1_
:>P(AUB)‘6+6 6_1 :>P(AUB)=—6-+g—€—
[18]. Probability of getting score 9 in aingle flirow [18]. T & ¥ 9% 3% oM 1 WiaHar
2.1 _ 4 1
T3 9 _ ' 39
Probability of getting score 9exactly in two throws T % | B 9R 9 W 1% AR Y g
12 8 _ 8 3~ (1Y 8 _ 8
=3C2(§) *9 = 743 - C2(9) X9 =243
[19]. If sec x = cosec & [19]. ¥ sec x =cosec x
i i : 1 ” 1
cosx ) sinx CoS X sin x
= sin x = cos x = sin x = cos x
sinx-cosx =0 sinx-cosx =0
[20]. Y [20]. Y
P(4, 3) P(4,3)
X' 0}(0, 0) X X 0](0,0) X
Y ol
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The dlstance of the point P(4, 3) from the origin

d=/(4-0)2 +(3-0)
d = J25 =5 units

If sin (x + 60) = cos (60 - y) then
sin (x + 60) =sin (90 - 60 + y)
sin (x + 60) =sin (30 + )

x+60 =30 +y
y—x =30°

[21].

N =

sin (y - x) = sin 30° =

[22]. 5x + 3y = 6.

3y=-5x+6

3

w
w

-3

3
I
w

my.my, = -1
The graphs of the equation are perpendicular.

1+tan? 44°
23, ——— . J¢
1+ cot” 46°

1 +tan? (90 - 46)<
"~ 1+cot’46
The value of
tan 1°. tan22 .tan 3° ... tan 88°. tan 89° is
-tan 1°, tan 2°\, tan 3° ... tan (90 - 2) . tan (90 - 1)
tand°.tan 2°.tan 3°...cot 2°.cot 1°

tan 1°.tan 2° . tan 3° ... 1 x 1 =1

tan2° tan 1°

tan (90 - 0) = cot 0]

1 +got® 46
1+ cot? 46

[24].

[25]. The simplest value of

16

(1+x)(1+x2)(1+x4)(1+x8)=11__x

1-(x*)?

) 1-x
Q@ +xt)a-x*)
- 1-x

_(1+2%)(a-x%)
B 1-x

uw fiig @ g P4, 3) @ = w @
d= (4-0)? +(3-0)*

d= 425 =5 A%

T sin (x + 60) = cos (60 - y) T
sin (x + 60) = sin (90 - 60 + v)
sin (x + 60) =sin (30 + y)

x+60 =30+y
y—x =30°

[21].

sin (y - x) = sin 30°=

15w

[22]. 5x +3y =6

3y=5x + 6

oo omp.my'= ~1
mmm@{mﬁwm|

1+tan? 44°
1+ cot” 46°

1+tan? (90 - 46) _
T 1+cot?46

tan (90 - 6) = cot 6]

1 + cot? 46
1 + cot? 46

[24].

tan 88°. tan 89° is

tan (90-2) .tan (90-1)
cot2°.cot1°

1 1
.tan3°.., —— x ———=
an tan 2° X tan 1° d

tan 3°...
tan 3° ...
tan 3° ...

tan 1°.tan 2°.
tan1°.tan 2°.
tan1°.tan2°.

tan 1°. tan 2°

(251 (1+x)A+x?)(1+x?)(1+2%) F1 T qH

J1-x% 1-(x%)?

L= )
_ 1+ a+xt)(1-x*)
B 1-x

_(1+x%)(a-x%)
B 1=%
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_Q+r)a+xHa-na+na+a’) ‘ _@+xh)(@+2*) (-0 A+ 01 +x?)
(1-1x) (1=%)
1_ ¢l ’ 1-x' 2 4 8
- =(1+x)A+x2) (1 +x*)(1+x) T =@+0)A+x7)A+x)(d+x )
126]. fC*+C=-1 [26]. ARC*+C=-1
C-1=(C-1)(C*+1+0) CP-1=(C-1)(C*+1+0)
C-1=(C-1)(-1+1)=0 C-1=(C-1)(-1+1)=0
L CP-1=0 L C=-1=0
[27]. (sin© + cos 9)2=sin26+c0526+2sin6c059 (271. (sin9+c056)2‘=sin29+c0329+25in9c056
(Sin9+C059)2=1+2x%=2 (sin6+cose)2=1+2x—12—=2
. sin@+cos =2 v ;. sin@+cos 0= 2
2 _ 2.
(28]. Mean =" _nletliERsl) (28], T Tie 20 _n @A) 2n+1)
6 n _ n 6 n
B (n+1)(2n+1) ' _ (n*x1)@n+1)
B 6 - 6
[29]. (xn-b)a+b (xb—c)b+c ><(xc~a)c+a [29]. (xn—b)a+b (xb—C)b+C X(xc~n)c+a
xnz—bz+bz—c2+cz—rx2 xaz—bza-bz—czuz—az
%% =1 =1
[30]. 'Thevalueoftheexpression1[6+,/6+,/6...°0 [30]. 1/6+,[6+,/6...00 w1 7 B
y=y6+y , y=y6+y
'y2:6+y y2=6+y
yz—y—6=0 _ yz—y—6=0
y? -3y +2y-6=0 y? -3y +2y-6=0
y(y-3)+2(y-3)=0 y(y—-3)+2(y-3)=0
y=3, y=-2 y=3, y=-2
[31]. a,Bbetheroo'tsofx2+ax+b_=0 (31l Elﬁoc,BGTﬁWf+ax+b=0iﬁtm?'ﬁ
: a+pP =-a o+p =-a
oa.p =0 o.p =1b : ,
a?. B’ _ o +B(ap)(a” +B° ~ ap) a? B2 _ o’ 4P’ (a+p)(o’ +B -ap)
B o — o)y . of v B o  aop op
o? B a¥-2b-b o B (a2—2b—b) S
-B—+E—=_a——-—_b [3 a__a_._-—-—-b
£, L rauh o B a3
B a T b B« b

[32]. The quadratic equation is [32]. foendia Wi fore 9 o, B T

¥ —(a+B)x+1=0 | x> —(a+P)x+1=0
xz—(a+l)x+1=0 : x2—(a+l)x+l=0
a a .

ax? —(a* +Dx+a=0 ax? —-(a*> +)x+a=0
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(34].

[35].

[36].

[371.

[38].

(391

P A Q

£BAC =90°

ZACB =90°~ ZABC

ZACB =90° - 35° B - c
= 55°

In cyclic quadrilateral
ZSAQ + £SPQ =180°
ZSPQ = 30°
ZSQP =90° - 30° p KT N,
= 60°

Let edge of the square is ‘a’

then =S

a=.S
Length of the cord = 4/§
Perimeter of the circle 2nr= 4./S

4JS _24S
r= —— ="
27 s
.. Area of the circle = 7 x 4s = 45
n? n

Surface area of the sphere = 4n7°
Surface area of the cube = 64°

dnr? = 6a*

Ratio of fhe diameter and edge of the cube is

_2J§_2J€=Jg:ﬁ

2r:a —_— =

T T 2n 2dn
Volume of the cube = n x volume of the balls
(44)° =nx %n x (2)3

44 x44 x 44 x 3 x7
" T T ax2x8
= 2541 »
Angle between tangent and chord is equal to angle

. in the alt. segment. Hence 60° and 70°.

[34].

[35].

(361

[37].

[38].

[391.

P A Q

£BAC =90°
ZLACB =90°- ZLABC

ZACB =90° - 35° B %
= 55°
whig 9gys o D
ZSAQ + £SPQ =180° "
ZSPQ = 30°
ZSQP =90°-30° °
= 60°
e a1 ® T O g b
GE a’ &S
ay=4/S
T B = 445
g &)Y = 2nr= 45

Y n

30° 150°

it Wﬁﬁ?‘ﬁﬂ:nx%—-:%‘i

4 T
M & WOl T = 4nr?
1 ®1 §Y0f T = 64°
41"'2 =6a2

2 _ 64> _3a’

T 4n " 2m
r=J§a
V2n
2r_2J§a
T V2
TR B =9 g 9 F G F AW E
g =28 _2V6 _ <
2r:a -m—zﬁ—ﬁ.ﬁ

¥ W A = n x T Tg F g
(44)3 = n><%1tx(2)3
44x44x44x3x7
4x22x8
= 2541
el TEn ol S F 9 = ™ e wve §
FIO P TR e & Bw 60° I 0° B

n =
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[40].

41}

[42].

[43].

[45].

[46].

[47].

[48].

T

Y g B

PT? =PA x PB
PT*=4x16
PT? = 64

PT =8cm

Mode = 3 median -2 mean
Mode = 3 x (34) -2 x 32

Mode = 102 - 64 = 38

Xy Xy +ot Xy )
.10 (gen)

Y=
O xl +X2 .-.+x10 =1OE
Meanof (x; — %), (x5 =X)...(x9 = X)

(x; + x5 +.u 4 x90) — (¥ +X ... 10%)

- 10

10% - 10%
D D

Cuboid's diagonals = ,112 +b% +1?

~. Largestrod length = /1% +b? + 5%

A minute hand of a clock complete ong revolution
in 1 hr hence in 2 hrs. two revlutions means 720°
atcentre.

>|
i

If 557¥=25 and\ W5 ¥ =5
5x—y=52 53x+2y=51
= x=y=2 | 3x+2y=1

Onsolving x~y=2 and 3x+2y=1

x=1, y==1.
Product of the roots
' c_r
o.p= h
Sum ofn

S, = g[Za +(n- 1)d]

Sy = 229[2 +(20-1)1]
Szo = 10[21] = 210

[40].

[41].

[42].

[43].

[45].

{46].

[471.

(48].

T

T e

PT? =PA x PB

PT> =4 x 16

PT? = 64

PT =g aM

3 x HifeqH —2 x G, WA

3% (34)22 x 32
102.- 64 = 38

g =

qEHASD =

qgUE =
fr B A X, Rxg +...+ X

10
A+ Xy i+ Xy =10X
(x1 % %), (x5 = %) ... (%1 — X) T GHIRR WIET EW
(X1 +x9 +uo+x59) - (X +X...10X)
10

Xz
—  10%-10%

£ ==l .

T o vt = 12 1 b7 4 2

- TR el vy W A = 12 407 + 42 R

foe areft g2 19 # wF qu wee gu st 2
TafeaT 2 w2 o gE g 2 9FR O % HRO B
¥ 720° 1 H0 =AM

g 5" Y =25 sk 5%+ % 5
5x—y=52 53x+2y=51
=>x-y=2 = 3x+2y=1

T WHE x -y =2 3R x4+ 2y = 1% TA FA W
x=1, y=-1

TR px? + gx + =0 A w1 [OFARA

Sy =526 +(n-1)d]

By = —229[2 +(20-1)1]
Szo =. 10[21] = 210




las).

(50}.

{59].

[66].

[e8].

[94].

[115].

[117].

[119].

[120].
[126].
[129].

[131].

cos® 5° + sin” 85°
Using cos 6 =sin (90° - 8)
sin” (90° - 5) + sin” 85°
sin’ 85° + sin” 85° = 2 sin” 85°
Locus of the point which moves such that equal
distance from the X- and Y-axisis x = y.

600
o -1

Number of images n =

If the mirrors are placed parallel then 8 =0

n—-3—600——1 o (infinite)
1 1. 1. 1_ ., H_
R—2+3+6—1 L R=1Q
P=P,+P,

= P =40 watt + 40 watt

= P =80 watt

Catalyst does not disturb the equilibrium point

‘butitspeeds up to get the equilibrium.

N, molecule is formed by sharing of 3 pairs of
electrons.

Large number of organic compound$are formed
by catenation.

On moving down thesgroup/the atomic radius
increases while moving from left to right atomic
radius decreases therefore Sodium (Na) has larger
atomic radius:

He, Ne, AT Kr, Xn are the inert gases.

In planits ovary develops into the fruit.

Yeast reproduces by budding.

Grape and rose are propagated commercially by
cutting.

[49].

[50].

[59].

{66].

[68].

{94].

[115].

[117).

[119].

[120].
(126].
[129].

[131].
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cos? 5° + sin” 85°
cos 0 = sin (90° — 0) T T FH W
sin? (90° - 5) + sin® 85°
sin® 85° + sin’ 85° = 2 sin® 85° -
X-FeFaen Y-8 9 g8 R feera oy w1 fag oy
x =y qFM

wﬁrﬁﬁi’ﬁmn=3%o°—1

3fy gaaer <901 FARR @ B0 =0

360°

L n= Sge -1 (SR
1_1 K N e
-ﬁ—2+3+6_1 R=1Q
P =zP&P;

= P=409E + 4091
S P=8071E

IaE F g fag W uwE qE gga € wate
Wwﬁgaﬁmmﬁﬁvﬁwmm
Bl

N, TEESH &1 370] A s & W F 77
Bl

weife. et # e w1 afus B w1 wEw
e B

g ¥ SR @ A9 F 2R TR W v e qgdt

2 wafF a2 @ S A IR W wedt ? @i
feas (Na) ®1 9eare] e st gt 21

"He, Ne, Ar, Kr,Xnﬁ wa fra 9 2

Rt #1 e v ¥ fawtaa g @)
AR e gR S S R -

R 9 A F FAT GR SAANE W W IG=
FW B






